, ‘\‘ Li 'N
c What Bird Has Bad Mannet‘s‘?

—> Create a scatterplot using the data given. Use the graph to 6
answer questions related to the scatterplot.

*
gE 6.0 - sk @ What type of association is shown?
)
& <F é’c% 100 Positive (R) Negative (Q) None
S 0 Is it linear or non-linear?
1 2 |57 8
. oS ¥ g 60 @ Linear (N) Non-Linear
i ‘I 32 % 40 Where is hours studying clustered?
A & 20 @otol (D3to35 (E)5to6
; 155 gg 0 T @ Which point is an outlier?
5T & [iss Hours Studying ® (1.5,30) () (5,108). (@) (1,98)
10 [35 [ 71

@ What type of association is shown?
@ Positive ® Negative @ None
@ Is it linear or non-linear?
@ Linear ® Non-Linear
@ Where is hours training clustered? ~—

@ 5 hours @ 25 hours @ None

TR R Which point would be an outlier?

Hours Training @ (5,8.5) @ (17,8) (80,5.2)
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,5‘3 eé” &6 @ What type of association is shown?
o
‘g’ay &5 093’ 50 @ Positive (G) Negative (E) None
Is it linear or non-linear?
58

@ Linear @ Non-Linear
@ Where is the burger price clustered?

®s%35 (@ss6 (D78

e e e — @ Which point would be an outlier?
36 Burger Price (8) @ (8,29) © (3,58) ® (6,19)
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